normalized x?

< X2/ndf>

Ratio

< Xx2/ndf>

Ratio

T

< op/p. > (%)

Ratio

Entries
Mean
Std Dev

Entries
Mean
Std Dev

[[normalized x? probability ]
0.05]

: [Enwes
| Mean 05609
Std Dev. 03195

0.04

: [Enties
= | Mean 0.5598
Std Dev 0.

0.03f- -+

0.02 3
Evies 5
0.0 Subey o3
o+
I
@
0. . 0.9¢
0 2 4 6 8 10 12 14 16 18 20 0102030405060.70809 1
X2 Prob(x?)
—— -{est_T000evT
— DQM |_mkFitREFit-test_1000evt
m— DOM_mkFitREFit-OR-test_1000evt
s DQM_mKFitREFit-ORK-test_1000evt
s DOM_mKFitREFit-OR4-test “1000evt
g
A
-
o
-
o
L]
\%
ie]
T
@
) ! : 3
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
N
5
c
>
>
\%
iel
©
@

10°° 1072

-1
AR(track, jefl’[s)



	Contents
	Page 1


